Electronic Journal of Mathematical Analysis and Applications Vol. 3(2) July 2015, pp. 249-256. ISSN: 2090-729(online) http://fcag-egypt.com/Journals/EJMAA/

FEKETE-SZEGO INEQUALITIES AND (j, k)-SYMMETRIC FUNCTIONS

FUAD S. M. AL SARARI AND S. LATHA

ABSTRACT. In this paper sharp upper bounds of $|a_3 - \mu a_2^2|$ for functions belonging to new subclasses defined using the concept of (j, k)-symmetric functions are derived. Certain applications for functions defined through fractional derivatives in the sense of Riemann Liouville are discussed.

1. INTRODUCTION

Let \mathcal{A} denote the class of functions of form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n,$$
(1)

which are analytic in the open unit disk $\mathcal{U} = \{z : z \in \mathbb{C} \text{ and } |z| < 1\}$, and \mathcal{S} denote the subclass of \mathcal{A} consisting of all function which are univalent in \mathcal{U} . For f and g analytic in \mathcal{U} , we say that the function f is subordinate to g in \mathcal{U} , if there exists an analytic function ω in \mathcal{U} such that $|\omega(z)| < 1$ and $f(z) = g(\omega(z))$, and we denote this by $f \prec g$. If g is univalent in \mathcal{U} , then the subordination is equivalent to f(0) = g(0) and $f(\mathcal{U}) \subset g(\mathcal{U})$ [see 8,9]. The convolution or Hadamard product of two analytic functions $f, g \in \mathcal{A}$ where f is defined by (1) and $g(z) = z + \sum_{n=2}^{\infty} g_n z^n$, then

$$(f * g)(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n.$$

Definition 1 Let k be a positive integer. A domain \mathcal{D} is said to be k-fold symmetric if a rotation of \mathcal{D} about the origin through an angle $\frac{2\pi}{k}$ carries \mathcal{D} onto itself. A function f is said to be k-fold symmetric in \mathcal{U} if for every z in \mathcal{U}

$$f(e^{\frac{2\pi i}{k}}z) = e^{\frac{2\pi i}{k}}f(z)$$

The family of all k-fold symmetric functions is denoted by S^k and for k = 2 we get class of the odd univalent functions. The notion of (j, k)-symmetrical functions (k = 2, 3, ...; j = 0, 1, 2, ..., k - 1) is a generalization of the notion of even, odd, k-symmetrical functions and also generalize the well-known result that each function

²⁰¹⁰ Mathematics Subject Classification. 30C45, 30C50.

Key words and phrases. Starlike Functions, Coefficient problem, Subordination, (j, k)-Symmetric points, Fekete-Szego Inequality.

Submitted July. 8, 2014.

defined on a symmetrical subset can be uniquely expressed as the sum of an even function and an odd function.

The theory of (j, k) symmetrical functions has many interesting applications, for instance in the investigation of the set of fixed points of mappings, for the estimation of the absolute value of some integrals, and for obtaining some results of the type of Cartan, s uniqueness theorem for holomorphic mappings [6].

Definition 2 Let $\varepsilon = (e^{\frac{2\pi i}{k}})$ and j = 0, 1, 2, ..., k - 1 where $k \ge 2$ is a natural number. A function $f : \mathcal{U} \mapsto \mathbb{C}$ is called (j, k)-symmetrical if

$$f(\varepsilon z) = \varepsilon^{j} f(z), \ z \in \mathcal{U}.$$

We note that the family of all (j, k)-symmetric functions is denoted be $\mathcal{S}^{(j,k)}$. Also, $\mathcal{S}^{(0,2)}$, $\mathcal{S}^{(1,2)}$ and $\mathcal{S}^{(1,k)}$ are called even, odd and k-symmetric functions respectively. We have the following decomposition theorem.

Theorem 1 [6] For every mapping $f : \mathcal{D} \to \mathbb{C}$, and \mathcal{D} is a k-fold symmetric set, there exists exactly the sequence of (j, k)- symmetrical functions $f_{j,k}$,

$$f(z) = \sum_{j=0}^{k-1} f_{j,k}(z)$$

where

$$f_{j,k}(z) = \frac{1}{k} \sum_{\nu=0}^{k-1} \varepsilon^{-\nu j} f(\varepsilon^{\nu} z),$$
(2)
($f \in \mathcal{A}; \ k = 1, 2, ...; j = 0, 1, 2, ..., k - 1$).

From (2) we can get

$$f_{j,k}(z) = \frac{1}{k} \sum_{\nu=0}^{k-1} \varepsilon^{-\nu j} f(\varepsilon^{\nu} z) = \frac{1}{k} \sum_{\nu=0}^{k-1} \varepsilon^{-\nu j} \left(\sum_{n=1}^{\infty} a_n (\varepsilon^{\nu} z)^n \right),$$

then

$$f_{j,k}(z) = \sum_{n=1}^{\infty} \psi_n a_n z^n, \ a_1 = 1 \qquad , \psi_n = \frac{1}{k} \sum_{v=0}^{k-1} \varepsilon^{(n-j)v} = \begin{cases} 1, & n = lk+j; \\ 0, & n \neq lk+j; \end{cases}$$
(3)

Definition 3 Let $\phi(z) = 1 + B_1 z + B_2 z^2 + \dots$ be univalent starlike with respect to 1 which maps the unit disk \mathcal{U} onto a region in the right half plane which is symmetric with respect to the real axis. Let $0 \leq \beta \leq \alpha \leq 1$ and $B_1 > 0$. Then the function $f(z) \in \mathcal{A}$ is in the class $\mathcal{S}^{j,k}(\phi)$ if

$$\frac{zf'(z)}{f_{j,k}(z)} \prec \phi(z)$$

We note that for suitable choices $j, k, \alpha, \beta, \phi$ we obtain the following subclasses ; (i) $\mathcal{S}^{1,k}(\phi) = S_s^k(\phi)$ the class introduced by Al-Shaqsi and Darus in [2]. (ii) $\mathcal{S}^{1,k}(\frac{1+Az}{1+Bz}) = S_s^k[A, B]$ we get the class introduced by Al-Shaqsi and Darus in [2].

(iii) $\mathcal{S}^{1,2}(\phi) = S_s^*(\phi)$ the class introduced by Shanmugam et al. in [7]. (iv) $\mathcal{S}^{1,2}(\frac{1+z}{1-z}) = \mathcal{S}_s^*$ the famous Sakaguchi class [1].

 $(\mathbf{v})\mathcal{S}^{1,1}(\phi) = \mathcal{S}^*(\phi)$ the class introduced by Ma and Minda [3].

EJMAA-2015/3(2)

2. Fekete-Szegö Inequality

To prove our results, we need the following lemmas.

Lemma 1 [3] If $p(z) = 1 + c_1 z + c_2 z^2 + ...$ is analytic function with positive real part in \mathcal{U} and v is complex number, then

$$|c_2 - vc_1^2| \le 2\max\{1, |2v - 1|\},\$$

the result is sharp for functions given by

$$p(z) = \frac{1+z^2}{1-z^2},$$
 $p(z) = \frac{1+z}{1-z}.$

Lemma 2 [3] If $p(z) = 1 + c_1 z + c_2 z^2 + ...$ is analytic function with positive real part in \mathcal{U} , then

$$|c_2 - vc_1^2| \le \begin{cases} -4v + 2, & if \quad v \le 0; \\ 2, & if \quad 0 \le v \le 1; \\ 4v - 2, & if \quad v \ge 1. \end{cases}$$
(4)

When v < 0 or v > 1 the equality holds if and only if p(z) = (1+z)/(1-z) or one of its rotations. If 0 < v < 1, then the equality if and only if $p(z) = (1+z^2)/(1-z^2)$ or one of its rotations. If v = 0 the equality holds if and only if

$$p(z) = \left(\frac{1}{2} + \frac{1}{2}\vartheta\right)\frac{1+z}{1-z} + \left(\frac{1}{2} - \frac{1}{2}\vartheta\right)\frac{1-z}{1+z}, \ (0 \le \vartheta \le 1),$$

or one of its rotations. If v = 1, the equality holds if and only if

$$\frac{1}{p(z)} = \left(\frac{1}{2} + \frac{1}{2}\vartheta\right)\frac{1+z}{1-z} + \left(\frac{1}{2} - \frac{1}{2}\vartheta\right)\frac{1-z}{1+z}, \ (0 \le \vartheta \le 1).$$

Also the above upper bound is sharp and it can be improved as follows when 0 < v < 1:

$$|c_2 - vc_1^2| + v|c_1|^2 \le 2, \qquad (0 < v < 1/2),$$

$$|c_2 - vc_1^2| + (1 - v)|c_1|^2 \le 2, \qquad (1/2 < v < 1)$$

Theorem 2 Let $\phi(z) = 1 + B_1 z + B_2 z^2 + \dots (B_1 > 0)$. If f(z) given by (1) belongs to $\mathcal{S}^{j,k}(\phi)$, then

$$|a_{3} - \mu a_{2}^{2}| \leq \begin{cases} \frac{1}{(3 - \psi_{3})} \left[B_{2} + \frac{B_{1}^{2}\psi_{2}}{(2 - \psi_{2})} - \mu \frac{B_{1}^{2}(3 - \psi_{3})}{(2 - \psi_{2})^{2}} \right] & if \quad \mu \leq \sigma_{1}; \\ \frac{B_{1}}{(3 - \psi_{3})}, & if \quad \sigma_{1} \leq \mu \leq \sigma_{2}; \\ -\frac{1}{(3 - \psi_{3})} \left[B_{2} + \frac{B_{1}^{2}\psi_{2}}{(2 - \psi_{2})} - \mu \frac{B_{1}^{2}(3 - \psi_{3})}{(2 - \psi_{2})^{2}} \right], \quad if \quad \mu \geq \sigma_{2}. \end{cases}$$

where

$$\sigma_1 = \frac{(2-\psi_2)^2}{B_1(3-\psi_3)} \left[-1 + \frac{B_2}{B_1} + \frac{B_1\psi_2}{(2-\psi_2)} \right],$$

and

$$\sigma_2 = \frac{(2-\psi_2)^2}{B_1(3-\psi_3)} \left[1 + \frac{B_2}{B_1} + \frac{B_1\psi_2}{(2-\psi_2)} \right],$$

where ψ_n is defined by (3).

The result is sharp.

Proof. Let $f(z) \in S^{j,k}(\phi)$, then there exists a Schwarz function w(z) in \mathcal{U} with w(0) = 0 and |w(z)| < 1 in \mathcal{U} such that

$$\frac{zf'(z)}{f_{j,k}(z)} = \phi(w(z)).$$

If $p_1(z)$ is analytic and has positive real part in \mathcal{U} and $p_1(0) = 1$ then

$$p_1(z) = \frac{1+w(z)}{1-w(z)} = 1 + c_1 z + c_2 z^2 + \dots, \ z \in \mathcal{U},$$
(5)

from (5), we have

$$w(z) = \frac{c_1}{2}z + \frac{1}{2}\left(c_2 - \frac{c_1^2}{2}\right)z^2 + \dots,$$

therefore, we have

$$p(z) = \phi(w(z)) = 1 + \frac{1}{2}B_1c_1z + \left[\frac{1}{2}B_1\left(c_2 - \frac{c_1^2}{2}\right) + \frac{1}{4}B_2c_1^2\right]z^2 + \dots$$
(6)

Now let

$$p(z) = \frac{zf'(z)}{f_{j,k}(z)} = 1 + d_1 z + d_2 z^2 + \dots,$$

or

$$\frac{1 + \sum_{n=2}^{\infty} n a_n z^{n-1}}{\sum_{n=1}^{\infty} \psi_n a_n z^{n-1}} = 1 + d_1 z + d_2 z^2 + \dots,$$
(7)

which gives

$$d_1 = \frac{(2 - \psi_2)a_2}{\psi_1},\tag{8}$$

and

$$d_2 = \frac{(3-\psi_3)a_3}{\psi_1} - \frac{(2-\psi_2)\psi_2 a_2^2}{\psi_1^2}.$$
(9)

Now from (6),(7),(8) and (9) we get

$$a_2 = \frac{B_1 c_1 \psi_1}{2(2 - \psi_2)},$$

and

$$a_3 = \frac{B_1\psi_1}{2(3-\psi_3)} \left[c_2 - \frac{c_1^2}{2} \left[1 - \frac{B_2}{B_1} - \frac{B_1\psi_2}{(2-\psi_2)} \right] \right].$$

Therefore, we have

$$a_3 - \mu a_2^2 = \frac{B_1 \psi_1}{2(3 - \psi_3)} [c_2 - vc_1^2],$$

where

$$v = \frac{1}{2} \left[1 - \frac{B_2}{B_1} - \frac{B_1 \psi_2}{(2 - \psi_2)} + \mu \frac{B_1 \psi_1 (3 - \psi_3)}{(2 - \psi_2)^2} \right].$$

Our result now follows by an application of Lemma 2. To show that these bounds are sharp, we define the functions K_{ϕ_m} , m = 2, 3, ... by

$$\frac{zK'_{\phi_m}(z)}{K_{\phi_m}(j,k)(z)} = \phi(z^{n-1}).$$

$$K_{\phi_m}(0) = 0 = [K_{\phi_m}]'(0) - 1$$

and the function F_{λ} and G_{λ} $(0 \leq \lambda \leq 1)$

$$\frac{zF'_{\lambda}(z)}{F_{\lambda(j,k)}(z)} = \phi\left(\frac{z(z+\lambda)}{1+\lambda z}\right).$$
$$F_{\lambda}(0) = 0 = F'_{\lambda}(0) - 1,$$

and

$$\frac{zG'_{\lambda}(z)}{G_{\lambda(j,k)}(z)} = \phi\left(\frac{-z(z+\lambda)}{1+\lambda z}\right)$$
$$G_{\lambda}(0) = 0 = G'_{\lambda}(0) - 1.$$

Obviously the functions $K_{\phi_m}, F_{\lambda}, G_{\lambda} \in \mathcal{K}^{j,k}(\alpha, \beta, \phi)$. Also we write $K_{\phi} := K_{\phi_2}$ if $\mu < \sigma_1$ or $\mu > \sigma_2$, then equality holds if and only if f is K_{ϕ} or one of its rotations. When $\sigma_1 < \mu < \sigma_2$, the equality holds if and only if f is K_{ϕ_3} or one of its rotations. $\mu = \sigma_1$ then equality holds if and only if f is F_{λ} or one of its rotations. $\mu = \sigma_2$ then the equality holds if and only if f is G_{λ} or one of its rotations. If $\sigma_1 \leq \mu \leq \sigma_2$, in view of Lemma 2. this completes the proof of Theorem 2.

Remark 1

- For j = 1 in Theorem 2 we obtain the result obtained by by Al-Shaqsi and Darus in [2].
- For j = 1, k = 2 in Theorem 2 we obtain the result obtained by Shanmugam et al. in [7].
- For j = 1, k = 1 in Theorem 2 we obtain the result obtained by see Ma and Minda [3].

If $\sigma_1 \leq \mu \leq \sigma_2$ in view Lemma 2 and Theorem 2 can be improved.

Theorem 3 $\phi(z) = 1 + B_1 z + B_2 z^2 + ... (B_1 > 0)$. Let f(z) given by (1) belongs to $\mathcal{S}^{j,k}(\phi)$ and σ_3 given by

$$\sigma_3 = \frac{(2-\psi_2)^2}{B_1\psi_1(3-\psi_3)} \left[\frac{B_2}{B_1} + B_1 \frac{\psi_2}{(2-\psi_2)} \right].$$

If $\sigma_1 < \mu \leq \sigma_3$, then

$$|a_3 - \mu a_2^2| + \frac{1}{B_1^2} \left[(B_1 - B_2) \frac{(2 - \psi_2)^2}{\psi_1(3 - \psi_3)} - B_1^2 \frac{\psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} + \mu B_1^2 \right] |a_2|^2 \le \frac{B_1 \psi_1}{(3 - \psi_3)}.$$

If $\sigma_3 < \mu \leq \sigma_2$, then

$$|a_3 - \mu a_2^2| + \frac{1}{B_1^2} \left[(B_1 + B_2) \frac{(2 - \psi_2)^2}{\psi_1(3 - \psi_3)} + B_1^2 \frac{\psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} - \mu B_1^2 \right] |a_2|^2 \le \frac{B_1 \psi_1}{(3 - \psi_3)^2} + \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} + \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} - \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} + \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} - \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} + \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} - \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} + \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} - \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} - \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} + \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} - \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} + \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} - \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} + \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} - \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} + \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} - \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} + \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} - \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} + \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} - \frac{B_1^2 \psi_2(2 - \psi_2)}{\psi_1(3 - \psi_3)} + \frac{B_1^2 \psi_2(2 - \psi_3)}{\psi_1(3 - \psi_3)} + \frac{B_1^2 \psi_3}{\psi_1(3 - \psi_3)} + \frac{B_1^2$$

where ψ_n is defined by (3).

Remark 2

- For j = 1 we obtain the result obtained by by Al-Shaqsi and Darus [2].
- For j = 1, k = 2 we arrive to the result obtained by Shanmugam et al.[7].
- For j = 1, k = 1 we get the result obtained by Ma and Minda [3].

By Lemma 2, we can obtain the following theorem.

Theorem 4 Let $\phi(z) = 1 + B_1 z + B_2 z^2 + \dots (B_1 > 0)$. If f(z) given by (1) belongs to $\mathcal{S}^{j,k}(\phi)$, then

$$|a_3 - \mu a_2^2| \le \frac{B_1 \psi_1}{2(3 - \psi_3)} \times \max\left\{1, \left|\frac{B_2}{B_1} + \frac{B_1}{(2 - \psi_2)} - \mu \frac{B_1 \psi_1(3 - \psi_3)}{(2 - \psi_2)^2}\right|\right\}$$

where ψ_n is defined by (3). The result is sharp.

3. Application to Functions Defined by Fractional Derivatives

The fractional derivatives of order γ in the sense of Riemann Liouville [5] is defined as

$$D_z^{\gamma} f(z) = \frac{1}{\Gamma(1-\gamma)} \frac{d}{dz} \int_0^z \frac{f(\zeta)}{(z-\zeta)^{\gamma}} d\zeta. \ 0 \le \gamma < 1,$$

where f is an analytic function in a simply connected domain of the z-plane containing the origin and the multiplicity of $(z-\zeta)^{-\gamma}$ is removed by requiring $\log(z-\zeta)$ to be real when $z-\zeta > 0$.

Fractional derivative of higher order are defined by

$$D_z^{\gamma+\varsigma}f(z) = \frac{d^\varsigma}{dz^\varsigma} D_z^{\gamma}f(z), \ \varsigma \in \mathbb{N}_0.$$

Using the fractional derivatives $D_z^{\gamma} f$ Owa and Srivastava in [4] introduced the operator $\Omega^{\gamma} : \mathcal{A} \to \mathcal{A}$, which is known as an extension of fractional derivative and fractional integral as follows

$$\Omega^{\gamma} f(z) = \Gamma(2-\gamma) z^{\gamma} D_z^{\gamma} f(z), \ \gamma \neq 2, 3, 4, \dots$$
(10)

The class $\mathcal{K}^{j,k}_{\gamma}(\phi)$ consists of functions $f \in \mathcal{A}$ for which $\Omega^{\gamma} f \in \mathcal{K}^{j,k}(\phi)$. The class $\mathcal{K}^{j,k}_{\gamma}(\phi)$ is a special case of the class $\mathcal{K}^{j,k}_g(\phi)$ when

$$g(z) = z + \sum_{n=2}^{\infty} \frac{\Gamma(n+1)\Gamma(2-\gamma)}{\Gamma(n+1-\gamma)} a_n z^k, \ z \in \mathcal{U}.$$
 (11)

Now applying Theorem 2 for the function $(f * g)(z) = z + g_2 a_2 z^2 + g_3 a_3 z^3 + \dots$ we get the following theorem.

Theorem 5 Let $g(z) = 1 + g_1 z + g_2 z^2 + \dots + (g_n > 0)$. If f(z) given by (1) belongs to $\mathcal{S}_q^{j,k}(\phi)$, then

$$|a_{3} - \mu a_{2}^{2}| \leq \begin{cases} \frac{\psi_{1}}{g_{3}(3 - \psi_{3})} \left[B_{2} + \frac{B_{1}^{2}\psi_{2}}{(2 - \psi_{2})} - \mu \frac{g_{3}}{g_{2}^{2}} \frac{B_{1}^{2}\psi_{1}(3 - \psi_{3})}{(2 - \psi_{2})^{2}} \right] & if \quad \mu \leq \tau_{1}, \\ \frac{\psi_{1}B_{1}}{g_{3}(3 - \psi_{3})}, & if \quad \tau_{1} \leq \mu \leq \tau_{2}, \\ -\frac{\psi_{1}}{g_{3}(3 - \psi_{3})} \left[B_{2} + \frac{B_{1}^{2}\psi_{2}}{(2 - \psi_{2})} - \mu \frac{g_{3}}{g_{2}^{2}} \frac{B_{1}^{2}\psi_{1}(3) - \psi_{3}}{(2 - \psi_{2})^{2}} \right], \quad if \quad \mu \geq \tau_{2}. \end{cases}$$

where

and

$$\begin{aligned} \tau_1 &= \frac{g_2^2 (2 - \psi_2)^2}{g_3 B_1 \psi_1 (3 - \psi_3)} \left[-1 + \frac{B_2}{B_1} + \frac{B_1 \psi_2}{(2 - \psi_2)} \right], \\ \tau_2 &= \frac{g_2^2 (2 - \psi_2)^2}{g_3 B_1 \psi_1 (3 - \psi_3)} \left[1 + \frac{B_2}{B_1} + \frac{B_1 \psi_2}{(2 - \psi_2)} \right], \end{aligned}$$

254

Remark 3

- Putting j = 1 we obtain the result by Al-Shaqsi and Darus [2].
- Putting j = 1, k = 2 we get the result by Shanmugam et al [7].

Since

$$\Omega^{\gamma} f(z) = z + \sum_{n=2}^{\infty} \frac{\Gamma(n+1)\Gamma(2-\gamma)}{\Gamma(n+1-\gamma)} a_n z^k, \ z \in \mathcal{U},$$

we have

$$g_2 = \frac{\Gamma(3)\Gamma(2-\gamma)}{\Gamma(3-\gamma)} = \frac{2}{2-\gamma},$$
(12)

and

$$g_3 = \frac{\Gamma(4)\Gamma(2-\gamma)}{\Gamma(4-\gamma)} = \frac{6}{(2-\gamma)(3-\gamma)}.$$
 (13)

For g_2, g_3 given by (12) and (13), respectively, Theorem 3 reduce the following theorem.

Theorem 6 Let $\gamma < 2$. If f(z) given by (1) belongs to $\mathcal{S}_{\gamma}^{j,k}(\phi)$, then

$$|a_{3}-\mu a_{2}^{2}| \leq \begin{cases} \frac{(2-\gamma)(3-\gamma)\psi_{1}}{6(3-\psi_{3})} \left[B_{2} + \frac{B_{1}^{2}\psi_{2}}{(2-\psi_{2})} - \mu \frac{3(2-\gamma)}{2(3-\gamma)} \frac{B_{1}^{2}\psi_{1}(3-\psi_{3})}{(2-\psi_{2})^{2}} \right] & if \quad \mu \leq \tau_{1}^{*}, \\ \frac{(2-\gamma)(3-\gamma)\psi_{1}B_{1}}{6(3-\psi_{3})}, & if \quad \tau_{1}^{*} \leq \mu \leq \tau_{2}^{*} \\ -\frac{(2-\gamma)(3-\gamma)\psi_{1}}{6(3-\psi_{3})} \left[B_{2} + \frac{B_{1}^{2}\psi_{2}}{(2-\psi_{2})} - \mu \frac{3(2-\gamma)}{2(3-\gamma)} \frac{B_{1}^{2}\psi_{1}(3-\psi_{3})}{(2-\psi_{2})^{2}} \right], \quad if \quad \mu \geq \tau_{2}^{*}. \end{cases}$$

where

$$\tau_1 * = \left(\frac{2(3-\gamma)}{3(2-\gamma)}\right) \frac{g_2^2(2-\psi_2)^2}{g_3 B_1 \psi_1 (3-\psi_3)} \left[-1 + \frac{B_2}{B_1} + \frac{B_1 \psi_2}{(2-\psi_2)}\right]$$

and

$$\tau_2^* = \left(\frac{2(3-\gamma)}{3(2-\gamma)}\right) \frac{g_2^2(2-\psi_2)^2}{g_3 B_1 \psi_1(3-\psi_3)} \left[1 + \frac{B_2}{B_1} + \frac{B_1 \psi_2}{(2-\psi_2)}\right]$$

where ψ_n is defined by (3). The result is sharp. Remark 3

- Putting j = 1 we obtain the result by Al-Shaqsi and Darus [2].
- Putting j = 1, k = 2 we arrive to the result by Shanmugam et al [7].

References

- K. Sakaguchi, On a certain univalent mapping, Journal of the Mathematical Society of Japan, 11, (1959), 72-57.
- K. Al-Shaqsi and M. Darus, Fekete-Szegö problem for univalent functions with respect to k-symmetric point Australian J. Math. Anal. Appl 5(2), (2008), 1-12.
- 3. W. Ma and D. Minda, A unified treatment of some special classes of univalent functions, in Proceedings of the Conference on complex Analysis, Z. Li, F Ren, L Lang, and S. Zhang (Eds), International press Boaton, Mass, USA, (1994), 157-169.
- S. Owa and H. M. Srivastava, Univalent and starlike generalized hypergeometric functions, Canadian Journal of Mathematics, 39(5), (1987), 10571077.
- 5. S. Owa, On the distortion threorems, I, Kyyungpook Math. J ${\bf 18}(1),\,(1978),\,374\text{-}408.$
- P. Liczberski and J. Polubinski, On (j, k)-symmetrical functions, Mathematica Bohemica, 120, (1995), 13-25.

- T. N. Shanmugam, C. Ramachandran, and V. Ravichandran, "Fekete-szego problem for subclasses for subclasses functions with respect to symmetric points," *Bulletin of the Korean Mathematical Society*, 43(3), (2006), 589-598.
- 8. S. S Miller and P. T. Mocanu, Differential subordinations theory and Applcations, **225**, Marcel Dekker, New York, NY, USA, (2000).
- K. S. Padmanabhan and R. Parvatham, Some applications for differential subordinatial, Bulletin of the Australtion Mathematical Society, 32(3), (1985), 321-330.

FUAD. S. M. AL SARARI

Department of Studies in Mathematics, University of Mysore, Manasagangotri, Mysore 570 $006,\,\mathrm{INDIA}$

E-mail address: alsrary@yahoo.com

S. LATHA

DEPARTMENT OF MATHEMATICS, YUVARAJA'S COLLEGE, UNIVERSITY OF MYSORE, MYSORE 570 005, INDIA

 $E\text{-}mail\ address: \quad \texttt{drlatha@gmail.com}$